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o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % I 37 @ g4 TE FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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General Instructions :

(i) The question-paper contains two Sections : Section-A (Micro-Economics) &
Section-B (Macro Economics).

(i) All questions are compulsory.

(iii) Marks for questions are indicated against each.

(iv) Question Nos. 1 to 10 and 18 to 27 are objective type questions. Each
question carries 1 mark. Answer these questions as per instructions.

(v) Question Nos. 11-12 and 28-29 are very short answer type questions
carrying 3 marks each. Answer to these should normally not exceed 30
words each.

(Vi) Question Nos. 13 to 15 and 30 to 32 are short answer type questions
carrying 4 marks each. Answer to these should normally not exceed 60
words each.

(vii) Question Nos. 16-17 and 33-34 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed 130 words each.

(viii) Internal choice is available in some questions. You have to attempt only one
of the given choice.

(ix) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
T - A [ M. M. :40
SECTION - A
[ @fte srdeme |
[ Micro Economics ]
[ FgS g ]
[ Objective Type Questions ]
=i 7o % Gel fawed g -
Choose the correct option of the following questions :
1. 9 § § fF-a1 Afte s # o1edd © 7 1

() T T
(B) % A BN HERET
(C) 9Rd ¥ H¥ H Fwean
(D) 99 |

1212/(Set : A) P.T.O.
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Which one is studied in Micro Economics ?

(A) National Income (B) Price determination of a good

(C) Agricultural problem in India (D) Aggregate demand
2. WA ITARRT & T &

(A)  g-THD (B) FOTcHh

(C) A (D) SYEd a4l

Marginal Utility can be :

(A) Positive (B) Negative

(C) Zero (D) All of the above
3. @& quH g ¢

@A) ar=ME B) TrR=2R

Q Q
(C) MR=% (D) AR=TRxOQ

Choose the correct equation :

@A) ar=MR B) TR=2R
Q Q
_ATR -
(C) MR = A0 (D) AR=TRxQ
4. TH-f=8 g W w1 & aw-elf El g
(A) 9 (B) €99
(C) OHS (D) &g &

On break-even point, profit and loss of the firm will be :
(A) Zero (B) Positive
(C) Negative (D) None

1212/(Set : A)



(5) 1212/(Set : A)

5. dqe fog a8 fog & P @ A 9 ofd & afn e € ¢
(A) -G8 & I B (B) TN &l =il
(C) &R BRA © (D) &R & H

Equilibrium point is the point at which the force of demand and supply :

(A) goes back and forth (B) is not equal
(C) are equal (D) Not work
R =t & gid 7

Fill in the blanks :

1

6. o TieEen # o RSl W ..oeene.. % e B R (SRR /I aTfeRTE) o

In a free economy, economic activities are controlled by ................ .

(Government/Market forces)

7. AR gt P A T W RE R, WG i & EREAYISE I

If the elasticity of supply is greater than one, the supply is ............ .

(Unelastic/Elastic)

8. ¥ MR §¥% Bl &, A TR oo, BT B

1

(et X @ 98 @I/l X § T8 @)

When MR is positive, then TR will ................ .

(Increasing at decreasing rate/Increasing at increasing rate)

1212/(Set : A)

P.T.0O.
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[T ge7 (9 @@ 10) 7 @ #97 _F T4 & : SHYHYT (A) T TF (R) T B TCHT
74 [T 77 fawedl 5 @ d8l [awey #1997 B

The question below (9 & 10) consists of two statements : Assertion (A) and
Reason (R). Read the statements and choose one of the correct alternatives
given below :

9. IEHYA (A) : T9C W@ & TEX B3 Al (S5 ITMA TN H Fohe B ol 1
@ (R) : G & R § Jowerm @6 qo1 $Fd 3 T6-ga) H W 7 ol
% -
(A) ARMFEE (A) T dF (R) A1 97 § T T (R), ST (A) 1 HEl TSI 2|
(B) ARHY (A) U1 d& (R) AM! O & T T (R), MBI (A) BT Tl TTEBI Tal 2l
(C) SIRHEE (A) § &, W=y T (R) 376 B
(D) SR (A) 3THA 8, g T (R) T Bl

Assertion (A) : Any point outside the budget line represents non-attainable

combinations.

Reason (R) : In a situation of equilibrium the indifference curve and budget line

touches each other.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1212/(Set : A)
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10. SRR (A) : QR For QR & AT GEET aend ¥ 1

T (R) : IR U g @ e §9ed 38 & i o1ggf 9 2

fwe -

(A) SIBTH (A) T TH (R) AN T & T T (R), AHHAT (A) FT TE TR 2
(B) SIR1wEM (A) T 9% (R) QW1 O & T T (R), ST (A) &1 Tl TSI T2l Bl
(C) IR (A) § &, Wy T (R) 3TEA Bl

(D) SIRHEA (A) 3T &, W=y T (R) T 3

Assertion (A) : Supply and Quantity Supplied are similar concept.

Reason (R) : Market Supply Schedule means the Supply Schedule of the entire
industry.

Option :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

[ S-S 997 |
[ Very Short Answer Type Questions ]

11. GHid SITH & 1 ARWE & ? 9Hid MM §d & & g | 3

What do you mean by Marginal Revenue ? Write the formula for calculate
Marginal Revenue.

1212/(Set : A) P.T.O.
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S|
OR

HREH B Tahd d JAM B UAhd § 7 iaX g

Write three differences between Return to a Factor and Return to Scale.

12. A & feR w®Y W i # M @ oRedd @ g FMd W SR aW q9E & ares
T 3

Explain the effects on equilibrium price of change in supply, while demand

remain constant with diagram.

[ TEUHS 999 |

[ Short Answer Type Questions ]

13. oTiie oo 41 § 7 36% 9@ BN % ROl §ai| 4

What is Economic Problem ? Write its causes.

AYAT
OR
e e I v Il B qu B
Explain the subject matter of Micro Economics.
14, aRER T Y - 4
SR (30) %A AFE < A R ara | ofea aReresie arm
0 75
1 95
2 110
3 155

1212/(Set : A)
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Complete the Schedule :

Production (U) Total Cost ¥ Average Fixed Average Variable
Cost Cost
0 75
1 95
2 110
3 155
15. 9 ¥ g% & &R [ 4

Write the causes of increase in supply.

[ Y ST 99
[ Long Answer Type Questions ]

16. 97 & EH 1 & ? G0 9% & ROMHD B & HRY Gd1 6

What is Law of Demand ? Why does demand curve slope downwards ?

a7
OR
AN BT A Y S B P A%y B B 2 4 U 3HR § 9edT < 5 Wi 3EE o

T TR ZEH AT 20 THEA § CHT 10 THEA © SN B F A fafy R A @ B
a1 O

What do you mean by Price Elasticity of Demand ? The price of a goods increase

from ¥ 4 per unit to ¥ S per unit and its quantity demanded reduce to 10 units
from 20 wunits. Calculate price elasticity of demand by Total Expenditure
Method.

1212/(Set : A) P.T.O.
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17. 9ft & ®49, ofi 9 gfs, 9 &1 dgEe qun gfd & faear @ afes ey 6

Explain with diagram : Increase in Supply, Decrease in Supply, Contraction of
Supply and Extension of Supply.

SEE|
OR
oot SRR IR & @ S § 7 g RS e
What is perfect competition market ? Write its characteristics.
T -9 [ M. M. : 40
SECTION - B
[ qefe e |

[ Macro Economics ]

[ TGS g ]

[ Objective Type Questions ]
[=iiET 997 % @el [awey giad -
Choose the correct option of the following questions :

18. U ffved &9 omafy & HGl S Al qE0 P Fed € 1

(A) TEgL (B) TS
(C) i (D) TH & ®IE &
The quantity measured in a certain time period is called :
(A) Goods (B) Flow
(C) Stock (D) None of these

1212/(Set : A)
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19. 9RA 7 TS T P STAN BT A & 7

20.

21.

(A) FT iR e (C. S. 0.)

(B) ¥R o &% (R. B. 1.)

(C) g wias 9a&eT €es (N. S. S. 0.)
(D) T |

In India National Income is calculated by :
(A) Central Statistics Organisation

(B) Reserve Bank of India

(C) National Sample Survey Organization

(D) All of these

IR R S @ wo g o

(A) 1940 ¥ (B)
(C) 1950 H (D)
Reserve Bank of India is established in :
(A) 1940 (B)
(C) 1950 (D)
e T g
_Ac
(A) APC= IN% (B)
_Y
(C) APC-= c (D)

1212/(Set : A)

1935 |
1920 #

1935
1920

Apczg
AC

APC = —

1212/(Set : A)
1
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22.

23.

24.

25.

(12) 1212/(Set : A)

Choose the correct formula :

® apc=%2C @ apc=2Y
AY AC
(C) apc=2 (D) apc=<
C Y
TIAE A9 3 e ARl B Frfeiad & & $9-8 ot & dfer @ @ ? 1
(A) 3| W (B) gwd HE
(C) oM ST (D) IR

In which of the following categories are the Economic Transaction of Balance of
Payment divided :

(A) Visible items (B) Invisible items
(C) Capital transfer (D) All of the above
R =t & gid &7

Fill in the blanks :

ey 3 aRGR F A H e el B (STerT/SrE) 1
Goods and Services are ................ by Household Sector. (Consume/Production)
FY, TER I B T A/ e T B (e rfrard) 1
Taxisa ............ payment to government. (Optional / Compulsory)
ARG H G S B [, fafer a1 srRRT e B 1

(W R e/ ST Y aae)
To issue currency in India ................ method is used.

(Minimum Reserve System /Proportional Fund System)

1212/(Set : A)
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(13) 1212/(Set : A)
=it ge7t (26 @& 27) 7 & FoT £F T & ¢ oYEET (A) T T (R)! FEA B
TgHY 19 QU T [Tl § @ §8 [Amed w1 qaT #Y -

The question below (26 & 27) consists of two statements : Assertion (A) and
Reason (R). Read the statements and choose one of the correct alternatives
given below :

HIT (A) : FRE A AT 3T T 1
T (R) : I oM 7 el & < I8 FR& T A et o

AT -

(A) ARFET (A) T TF (R) A1 G & T T (R), STHIT (A) BT Tl TP 2|
(B) ARHY (A) U1 d& (R) AM! O & T T (R), MBI (A) BT Tl TTEBI Tal 2l
(C) SIRHEA (A) § &, W= T (R) 76 B

(D) SIRHEA (A) ST &, W=y T (R) T 3

Assertion (A) : Factor Income is earned income.
Reason (R) : Domestic Income includes net factor income from abroad.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1212/(Set : A) P.T.O.
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27. ARFBY (A) : BEIN TF [0 o 2| 1

@ (R) : BEIRT & HROT f6Hl TR &l |ura &1 fmfor 72 Sam

fweT

(A) ARMFEE (A) T dF (R) A1 97 § T T (R), ST (A) 1 Tl T 2|
(B) ARHY (A) &1 d& (R) AM! O & O T (R), MBI (A) BT Tl TR Tal 2l
(C) IR (A) § &, Wy T (R) STEA Bl

(D) SIRHEA (A) ST &, W=y T (R) T B
Assertion (A) : Scholarship is a Revenue Expenditure.

Reason (R) : Scholarship does not lead to creation of any asset.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

[ S-S 997 |
[ Very Short Answer Type Questions ]

28. T ISFIX HIT d AR e § Sfax Jam| 3

Write the difference between Full Employment Equilibrium and
Underemployment Equilibrium.

1212/(Set : A)
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Iy frel orefereem ¥ 100 FHUs B9 H AldRad A9 fHar o 2 qen MPC:% g,
M ¥ fbal gis 8rlt ?

If additional investment of ¥ 100 crore is made in an economy and MPC :%,

then what will be the increase in income ?

29. MR AY T FTAW 99 7 &7 X Fad| 3
Write three differences between Balance of Trade and Balance of Payment.

SENRUGER S

[ Short Answer Type Questions ]

30. USiar srefemaeen & & Qe R 4

Write four features of Capitalist Economy.

STeE
OR

3ifer T Aegedt awgelt  of¥ Sand

Tell differences between Final and Intermediate Goods.

31. A A B IF T B THNE A H 9 o 4

Write the measures of Fiscal Policy to control Deficient Demand.

1212/(Set : A) P.T.O.



32.

33.

34.

(16) 1212/(Set
Y fhe Fed B ? IO T STTe B H 7 ofax ford

What is Tax ? Write three differences between Direct and Indirect Taxes.

[ Y ST 99
[ Long Answer Type Questions ]

TS o9 A 1 T A & e &1

Explain the income method of measuring National Income.

YqT
OR

TS ST Bl o1 H fd F 8N arll 7al &l o

Which activities are not included in the estimation of National Income.

T § ST AT B ? T6e g B aa|

What do you mean by Money ? Write its main functions.

STeE
OR

BT S T YR F AR T 7 39D P o

What do you mean by Central Bank ? Write its functions.

1212/(Set : A)
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o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % I 37 @ g4 TE FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

(9
(%)
(iti)

()

(V)

(vi)

(vii)

To7-7 % & 9T & : qF-o7 (FE 7)) T AT (FARE S
& g9 oifard 8
TE% J97 % [TERT 5% I0% @F7 [T TT &

797 G 1 @ 10 T 18 & 27 TGS J97 &1 J9% F97 1 3% F 81 [R9gar 57
o7 & FT doray

g97 &g 11-12 o7 28-29 SHa-Tqaids Jo7 & 74 9% J97 3 3i#l T &
Je9% & AT GG 30 =] § 9% 7E S ey

797 @& 13 & 15 727 30 7 32 7% TYAUAE F97 & Frid J&F J97 4 o T &1
% & I GAET: 60 =] & 39% e & ey

797 G&J 16-17 7o 33-34 7% 3 FTUHAE J97 & 575 J9% J97 6 3jH 3T &1
T&9% T FI7 T@HT: 130 g1 @ 379% T2 &7 Ry

(viii) B Fo71 § ofiiE g2 G & 87 g7l H @ SAvH Hac G & 597 FA &1

(ix)

=T G, FAEHE T G JId Je7 G g 7El 8l

1212/(Set : B)



(3) 1212/(Set : B)
General Instructions :

(i) The question-paper contains two Sections : Section-A (Micro-Economics) &
Section-B (Macro Economics).

(i) All questions are compulsory.

(iii) Marks for questions are indicated against each.

(iv) Question Nos. 1 to 10 and 18 to 27 are objective type questions. Each
question carries 1 mark. Answer these questions as per instructions.

(v) Question Nos. 11-12 and 28-29 are very short answer type questions
carrying 3 marks each. Answer to these should normally not exceed 30
words each.

(Vi) Question Nos. 13 to 15 and 30 to 32 are short answer type questions
carrying 4 marks each. Answer to these should normally not exceed 60
words each.

(vii) Question Nos. 16-17 and 33-34 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed 130 words each.

(viii) Internal choice is available in some questions. You have to attempt only one
of the given choice.

(ix) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
T - [ M. M. :40
SECTION - A
[ @fte srdeme |
[ Micro Economics ]
[ FgS g ]
[ Objective Type Questions ]
=i 7o % Gel fawed g -
Choose the correct option of the following questions :
1. @& i g 1
@A) ar=ME B) TrR=2R
Q Q
ATR
C) MR=—— D) AR=TRx
(©) AQ (D) Q

1212/(Set : B) P.T.O.
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Choose the correct equation :

(A) AR = % (B) TR = %
_ATR _
© MR="2 (D) AR=TRxOQ

2. §u-fa=8e fog W ®H & a1 il © ¢

A) I (B) gdH®
(C) FTH®b (D) @1 &
On break-even point, profit and loss of the firm will be :
(A) Zero (B) Positive
(C) Negative (D) None
3. Gy fag a8 g B o W A 7 uftf &t iR ekl B
(A) R-GI8 & S B (B) WX & Bl
(C) ST Bl & (D) & & &L
Equilibrium point is the point at which the force of demand and supply :
(A) goes back and forth (B) is not equal
(C) are equal (D) Not work
4. F=1 ¥ § Fi9-a1 Afte seeme F SeEE © 7
() TEE ™ (B) g Pid HI e
(C) 9RA H P &l THET (D) @& AT

Which one is studied in Micro Economics ?
(A) National Income (B) Price determination of a good

(C) Agricultural problem in India (D) Aggregate demand

1212/(Set : B)
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5. HHidT ST B T © 1
(A) g-TcHR (B) kUIIHh
(C) TH (D) I Gl
Marginal Utility can be :
(A) Positive (B) Negative
(C) Zero (D) All of the above
R =t &1 giT &7
Fill in the blanks :
6. IR Yl A e o W oARm B, WY B B ERISHIVAIECY I
If the elasticity of supply is greater than one, the supply is ............ .
(Unelastic/Elastic)
7. 99 MR &A% Bl &, A TR oo BT B 1

(et X @ 98 @I/l X § T8 @)
When MR is positive, then TR will ................ .

(Increasing at decreasing rate/Increasing at increasing rate)

8. W rieae § ofi¥e FRel W ..oennen %1 e B R (SRR /I aTfeRTE) A

In a free economy, economic activities are controlled by ................ .
(Government/Market forces)

[T g7 (9 @@ 10) 7 @ &9 _F T4 & : SHYHYT (A) T TF (R) T B TEHT
q4 [T 77 fawedl 5 @ d8l [awey #1997 B

The question below (9 & 10) consists of two statements : Assertion (A) and
Reason (R). Read the statements and choose one of the correct alternatives
given below :

1212/(Set : B) P.T.O.
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9. IPEUA (A) : it T gft P AT FEEW g ) 1

T (R) : 99K 9 g & R 995 3 & O oTgE 9 B

T

(A) SIBIH (A) T TH (R) AW T & T T (R), AHHAT (A) FT TE TR 2

(B) ARHY (A) U1 d& (R) AM! O & O T (R), STHIT (A) BT Tl TTEBI Tal 2l

(C) IR (A) §F &, Wy T (R) STEA Bl

(D) SIRHEE (A) 3T &, W=y T (R) T 3

Assertion (A) : Supply and Quantity Supplied are similar concept.

Reason (R) : Market Supply Schedule means the Supply Schedule of the entire
industry.

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

10. I (A) : To1C W1 & qBY Bk A g o0 HAM & ThT HIA S 1
@ (R) : G & Rafy § Jowerm @6 qo $Fd 31 g H W 7 ol
R
(A) ARMFEE (A) T dF (R) A1 9 § T T (R), ST (A) 1 HEl T 2|
(B) SR (A) T 9% (R) 3! 9 & 9 0 (R), STRRN (A) T HEl TIh0T -8l &l
(C) IR (A) § &, Wy T (R) 3TEA Bl
(D) SR (A) 3THA 8, g T (R) T Bl

1212/(Set : B)
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Assertion (A) : Any point outside the budget line represents non-attainable
combinations.

Reason (R) : In a situation of equilibrium the indifference curve and budget line
touches each other.

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

[ SAfT-<TgRI® 989 |
[ Very Short Answer Type Questions ]

11. FF 3 UAhd g 39H & Jfaswd § 7 ofay forc 3

Write three differences between Return to a Factor and Return to Scale.

STeE
OR

dHid ST @ F1 AREE 5 ? a1 & B g

What do you mean by Marginal Revenue ? Write the formula for calculate
Marginal Revenue.

12. i & ReX @1 W A & 89 a1 oRadd & dgad hd W 0SH a T9E & ares
| 3
Explain the effects on equilibrium price of change in Demand while supply
remain constant with diagram.

1212/(Set : B) P.T.O.
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[ISENAUSETESN |
[ Short Answer Type Questions ]
13. e T Y 4
S (3o) %A A < Aaa Rex arFE | e aRadwei| arm
0 75
1 95
2 110
3 155
Complete the Schedule :
Production (U) Total Cost T Average Fixed Average Variable
Cost Cost

0 75
1 95
2 110
3 155

14. i 7 gfs & SR o 4

Write the causes of increase in supply.

15. =fte srefere it fawg arE @1 aie &Y 4

Explain the subject matter of Micro Economics.

3TeE
OR

Ml T9er 1 & ? 36 I~ BN & HROT adidl

What is Economic Problem ? Write its causes.

1212/(Set : B)
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[ S S 99
[ Long Answer Type Questions ]

16. it & ®4I, 4l & gfe, Ol &1 GgEe qun g & faeaR @ afen queisy 6

Explain with diagram : Increase in Supply, Decrease in Supply, Contraction of
Supply and Extension of Supply.

3TeE
OR

7o SRR SR & o ST B ? see advan Sand

What is perfect competition market ? Write its characteristics.

17. 97 &0 N 1 & ? G0 9% @ ROMHD B @ HRY ad1 6

What is Law of Demand ? Why does demand curve slope downwards ?

a7
OR
AN HG A T SR B P a%g B B 2 4 U 3HR § 9edT < 5 Wi 3EE o

S T TEH AT 20 THEAT § TEBT 10 HEA © A o FA A @ W A H HAT
ol &l I B

What do you mean by Price Elasticity of Demand ? The price of a goods increase
from ¥ 4 per unit to ¥ 5 per unit and its quantity demanded reduce to 10 units
from 20 wunits. Calculate price elasticity of demand by Total Expenditure

Method.

1212/(Set : B) P.T.O.
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A - § [ M. M. : 40
SECTION-B
[ THfte ordeT |
[ Macro Economics ]
[ FgSS U ]
[ Objective Type Questions ]
=i go7 % @el fawed g -
Choose the correct option of the following questions :
18. wRAE Rl d% % wo g ot 1
(A) 1940 ¥ (B) 1935 #
(C) 1950 H (D) 1920 ¥

Reserve Bank of India is established in :

(A) 1940 (B) 1935
(C) 1950 (D) 1920
19. @& g A ’

(A) APC-= AC (B) APC = AY
AY AC

(C) APC= L4 (D) APC = <
C Y

Choose the correct formula :

(A) APC = aAC (B) APC= AY
AY AC

(C) APC-= Y (D) APC = ¢
C Y

1212/(Set : B)
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20. MM AV & oM AR B Frfarad & § S-9 o F dfer T E ? 1
A) T (B) ST¥T A
(C) Yol e (D) S &

21.

22.

In which of the following categories are the Economic Transaction of Balance of
Payment divided :

(A) Visible items (B) Invisible items

(C) Capital transfer (D) All of the above

u e @9 @ty § ATl STt A0 @ Fed | 1
(A) =g (B) waE

() ®f® (D) 3 & *5 Tl

The quantity measured in a certain time period is called :

(A) Goods (B) Flow

(C) Stock (D) None of these

ARA § TS A B FTAA DA T & 7 1

(A) F=E i e (C. S. 0.)

(B) ¥R Rs@ &% (R. B. 1)

(C) g wiEst 9a&eT @es (N. S. S. 0.)
(D) 3 &+f

In India National Income is calculated by :
(A) Central Statistics Organisation

(B) Reserve Bank of India

(C) National Sample Survey Organization

(D) All of these

1212/(Set : B) P.T.O.
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24.

25.

26.

(12) 1212/(Set : B)

R =t &1 giT &7 -
Fill in the blanks :
FY, TER I B T A o T B (e erfrard) 1
Taxisa ............ payment to government. (Optional/Compulsory)
ARA H G S0 HE B [ fafy &1 ST & B 1
(FgFaw R e/ ST Y aae)
To issue currency in India ................ method is used.
(Minimum Reserve System /Proportional Fund System)
TER & RS d TR B e FX Bl (SusrT/SereE) 1
Goods and Services are ................ by Household Sector. (Consume/Production)

[T 797 (26 @&r 27) 7 @ #97 [ T & SNEIT (A) T 7% (R) FET B
TEHT A7 KT TG [AEed 7 7 @@ [T F agT #W -
The question below (26 & 27) consists of two statements : Assertion (A) and

Reason (R). Read the statements and choose one of the correct alternatives
given below :

e (A) : BEART T TR T Rl 1
@ (R) : BEIRT & HROT f6l TR &l |ui &1 fmfor 72 Sram

R

(A) ARMFEE (A) T dF (R) A1 9 § T T (R), ST (A) 1 Tl TSI 2|
(B) ARHY (A) U1 d& (R) QAM! O & O T (R), STHIT (A) BT HEl TTEBI Tal 2l
(C) IR (A) § &, Wy T (R) 3TEA Bl

(D) SR (A) 3THA 8, g T (R) T Bl

1212/(Set : B)
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Assertion (A) : Scholarship is a Revenue Expenditure.
Reason (R) : Scholarship does not lead to creation of any asset.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

27. ARFHE (A) : FRE T AT 3T B 1
@ (R) : N 9 7 RSN @ 99 & FR& G M Bl s
R
(A) ARFET (A) T TF (R) AN O & T T (R), MBI (A) B Tl TP 2|

(B) ARHY (A) T d& (R) ! O & T T (R), STHIT (A) BT Tl TTEBI Tal 2l
(C) SIRHEE (A) § &, W= T (R) 376 B
(D) SIRHEA (A) ST &, W=y T (R) T B

Assertion (A) : Factor Income is earned income.
Reason (R) : Domestic Income includes net factor income from abroad.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1212/(Set : B) P.T.O.
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[ SAfT-<TgRIT® 989 |
[ Very Short Answer Type Questions ]

28. OR AT T AW A9 F 7 iR o

Write three differences between Balance of Trade and Balance of Payment.

29. T AFIR H d STEASTIN I § ik Fam

Write the difference between Full Employment Equilibrium

Underemployment Equilibrium.

YqT
OR

R fpdl rdferaen § 100 FAT 5T P SREd PR AT 9@ ¥ qen MPC=%
A | Tl gl Brll ?

If additional investment of ¥ 100 crore is made in an economy and MPC =

then what will be the increase in income ?

[T 97 |

[ Short Answer Type Questions ]

30. A AN B IF T B THNE A F 9 o

Write the measures of Fiscal Policy to control Deficient Demand.

1212/(Set : B)
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31.

32.

33.

(15) 1212/(Set : B)

&Y fhe Fed § ? IO T STTe B H 7 ofax ford

What is Tax ? Write three differences between Direct and Indirect Taxes.

ofiarel Sreferaee & &Y @ e

Write four features of Capitalist Economy.

YqT

OR

aiferT T et aggel # ofT¥ S|

Tell differences between Final and Intermediate Goods.

[ & ST 99
[ Long Answer Type Questions ]

BT 96 T YR F1 SN B ? 39D B

What do you mean by Central Bank ? Write its functions.

YqT
OR

T @ ST A B ? S6% g B

What do you mean by Money ? Write its main functions.

1212/(Set : B)

4

P.T.0O.



(16) 1212/(Set : B)
34. U< A $ TOF § MHA T 89 il 7l Bl ol 6

Which activities are not included in the estimation of National Income.

3TeE
OR

TS o9 A9 i T [ & /e &1

Explain the income method of measuring National Income.

1212/(Set : B)
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o PY I F A [ 59 Je7-9H § GRT g 16 7o 597 34 &)
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The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §i/9 T 85
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o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % I 37 @ g4 TE FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

(9
(%)
(iti)

()

(V)

(vi)

(vii)

To7-7 % & 9T & : qF-o7 (FE 7)) T AT (FARE S
& g9 oifard 8
TE% J97 % [TERT 5% I0% @F7 [T TT &

797 G 1 @ 10 T 18 & 27 TGS J97 &1 J9% F97 1 3% F 81 [R9gar 57
o7 & FT doray

g97 &g 11-12 o7 28-29 SHa-Tqaids Jo7 & 74 9% J97 3 3i#l T &
Je9% & AT GG 30 =] § 9% 7E S ey

797 @& 13 & 15 727 30 7 32 7% TYAUAE F97 & Frid J&F J97 4 o T &1
% & I GAET: 60 =] & 39% e & ey

797 G&J 16-17 7o 33-34 7% 3 FTUHAE J97 & 575 J9% J97 6 3jH 3T &1
T&9% T FI7 T@HT: 130 g1 @ 379% T2 &7 Ry

(viii) B Fo71 § ofiiE g2 G & 87 g7l H @ SAvH Hac G & 597 FA &1

(ix)

=T G, FAEHE T G JId Je7 G g 7El 8l
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General Instructions :

(i) The question-paper contains two Sections : Section-A (Micro-Economics) &
Section-B (Macro Economics).

(i) All questions are compulsory.

(iii) Marks for questions are indicated against each.

(iv) Question Nos. 1 to 10 and 18 to 27 are objective type questions. Each
question carries 1 mark. Answer these questions as per instructions.

(v) Question Nos. 11-12 and 28-29 are very short answer type questions
carrying 3 marks each. Answer to these should normally not exceed 30
words each.

(Vi) Question Nos. 13 to 15 and 30 to 32 are short answer type questions
carrying 4 marks each. Answer to these should normally not exceed 60
words each.

(vii) Question Nos. 16-17 and 33-34 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed 130 words each.

(viii) Internal choice is available in some questions. You have to attempt only one
of the given choice.

(ix) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
qT - & [ M. M. : 40
SECTION - A
[ @t arefeme |
[ Micro Economics ]
[ TGS 999 |
[ Objective Type Questions ]
=i 7o % Gel fawed g -
Choose the correct option of the following questions :
1. G939 fog 78 fag B Fom @ At g o @t srferran et 2 1
(A) ST-4I® & o 2
(B) SR &l Bl
(C) e} & ?
(D) eI HIH

1212/(Set : C) P.T.O.
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Equilibrium point is the point at which the force of demand and supply :

(A) goes back and forth (B) is not equal
(C) are equal (D) Not work

2. 7 & § SF-a1 Afte sdere & o1eEd T & 7 1
(A) TEHE A=

(B) % i H HEier

(C) 9RA H F & qwa

(D) & |

Which one is studied in Micro Economics ?
(A) National Income

(B) Price determination of a good

(C) Agricultural problem in India

(D) Aggregate demand

3. HHid STRET & T © ¢ 1
(A)  EIHD (B) O
(C) A (D) IYHRT Gl
Marginal Utility can be :
(A) Positive (B) Negative
(C) Zero (D) All of the above

1212/(Set : C)



(5) 1212/(Set : C)

4. @& qEHT g 1
&) ar="R B TR=4F
Q Q
_ATR -
(C) MR = A0 (D) AR=TRxQ
Choose the correct equation :
@A) ar=ME B) TR=2:R
Q Q
_ATR -
(C) MR = A0 (D) AR=TRxQ
5. §9-faesy forg W wH &l a-eiie el g 1
(A) (B) ¢AH®
(C) FTHD (D) &S T

On break-even point, profit and loss of the firm will be :

(A) Zero (B) Positive
(C) Negative (D) None
R =t & gid &7

Fill in the blanks :

6. 9 MR §¥TC% &1l 8, A TR oo, BT B 1
(et X @ 98 @I/l X § T8 @)

When MR is positive, then TR will ................ .

(Increasing at decreasing rate/Increasing at increasing rate)

1212/(Set : C) P.T.O.
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7. @O STieEEn # ST PR W e % e B R (SRR /I aTfeRE) o

In a free economy, economic activities are controlled by ................ .

(Government/Market forces)

8. o O o O T A B, A G o & 3 (Ao /ER) 1

If the elasticity of supply is greater than one, the supply is ............ .
(Unelastic/Elastic)

[T ge (9 @@r 10) 7 @ #97 _F T4 & : SHYHYT (A) T TF (R) T B TCHT
Ha Re 73 el 5 @ @8 [weq #1997 & -

The question below (9 & 10) consists of two statements : Assertion (A) and
Reason (R). Read the statements and choose one of the correct alternatives

given below :

9. AN (A) : € @1 & dBY s A (45 ST HAN &l Fhe BT ol 1
@ (R) : G & Rafy § Jower @6 qo1 $Fd 3 g H W B ol
w -
(A) SIHBTH (A) T TH (R) AMI T & T 0 (R), AHHAT (A) FT TE TR 2
(B) SIRMwEM (A) T 9% (R) QW1 O § T T (R), ST (A) &1 Tl TSI T2l Bl
(C) e (A) 99 &, W] T (R) 76 &I

(D) SR (A) A 8, g T (R) T Bl

1212/(Set : C)
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Assertion (A) : Any point outside the budget line represents non-attainable
combinations.

Reason (R) : In a situation of equilibrium the indifference curve and budget line
touches each other.

Option :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

10. SRR (A) : Uft o oftf &t A wE gReme 2 1
@ (R) : TR i gy @ Ifmmg a9 g &t 9fd g | 3
%
(A) ARHE (A) T TF (R) A1 G & T T (R), MBI (A) BT HEl T &

(B) ST (A) T @& (R) I 9 & 9 0 (R), STRRN (A) T HEl TSIh0T -8l &l
(C) IR (A) § &, Wy T (R) 3TEA Bl
(D) SR (A) 3THA 8, Ty T (R) T Bl

Assertion (A) : Supply and Quantity Supplied are similar concept.

Reason (R) : Market Supply Schedule means the Supply Schedule of the entire
industry.

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1212/(Set : C) P.T.O.



(8) 1212/(Set : C)
[ S-S 999 |
[ Very Short Answer Type Questions ]

11. ST SITH & 1 ARWE & ? 9Hid MM §d & & g [ 3

What do you mean by Marginal Revenue ? Write the formula for calculate
Marginal Revenue.

YqT
OR

HRE B Tahd d UAH B UAhT § 7 SiaX g

Write three differences between Return to a Factor and Return to Scale.

12. 99 Jfd Tl deER &, 79 860 § aRad & 9gad dEd W 9SH 9 SN S ares
SREIY 3
When supply is perfectly elastic, than explain with diagram, the effects on
equilibrium price of change in Demand.

[ TEHS 999 |

[ Short Answer Type Questions ]

13. i 7 gfs & SR o 4

Write the causes of increase in supply.

14. 3Rie T 947 & ? 36% I~ o & BNl gl 4

What is Economic Problem ? Write its causes.

YqT
OR

Fite A B fowg ARl &1 JUiH FH

Explain the subject matter of Micro Economics.

1212/(Set : C)
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15. drfespl T & 4
S (30) % AN 3 Naa R @ | olea aRadwsiia ar
0 75
1 95
2 110
3 155

Complete the Schedule :

Production (U) Total Cost I Average Fixed Average Variable
Cost Cost
0 75
1 95
2 110
3 155

[ §d S 99 ]
[ Long Answer Type Questions ]

16. WM & FHFA AT A FT SME B ? A% H AT X 4 W TBE A ToHL 2 5 U TR A
I TR gEH AT 20 THEA @ CHT 10 THEA © SN 3| H d fafy R A @ B
ofel Sl O B 6
What do you mean by Price Elasticity of Demand ? The price of a goods increase
from ¥ 4 per unit to ¥ S per unit and its quantity demanded reduce to 10 units
from 20 wunits. Calculate price elasticity of demand by Total Expenditure
Method.

STeE
OR

AT 1 frm @ ¥ 7 AT a6 B RO BN B HIT
What is Law of Demand ? Why does demand curve slope downwards ?

1212/(Set : C) P.T.O.
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17. Yo7 SRR SR @ o A R ? geel fadwad Sand

What is perfect competition market ? Write its characteristics.

YqT
OR

qft & ®4 0, gt 9 g, 9 @ e qun g & faeR s ates quEsy 6

Explain with diagram : Increase in Supply, Decrease in Supply, Contraction of
Supply and Extension of Supply.

qT - § [ M. M. : 40
SECTION - B
[ ot Sreeme ]

[ Macro Economics ]

[ FEgs 9s ]
[ Objective Type Questions ]
[=iiET 997 % @el [awey giad -

Choose the correct option of the following questions :

18. YN 99 & e A & fr=ferfed & & H9-9 o & dfer T 8 ? 1
(4) 39w (B) 39T o¥
(©) Gl sfen (D) T &

In which of the following categories are the Economic Transaction of Balance of
Payment divided :

(A) Visible items (B) Invisible items

(C) Capital transfer (D) All of the above

1212/(Set : C)



19.

20.

21.

(11)
ws HiEd g9 ey § ardt S Al JE @ #Ed ©

(A)  IET (B) *are

©) (D) & & #g
The quantity measured in a certain time period is called :
(A) Goods (B) Flow

(C) Stock (D) None of these

ARG H TS T H AAE S A 5 7
(A) F=E i e (C. S. 0.)

(B) wRaw Red &% (R. B. 1)

(C) g wiast 9a&eT €es (N. S. S. 0.)
(D) I gl

In India National Income is calculated by :
(A) Central Statistics Organisation

(B) Reserve Bank of India

(C) National Sample Survey Organization

(D) All of these

R Rt §% @ e g o

(A) 1940 ¥ (B) 1935 #
(C) 1950 H (D) 1920 #
Reserve Bank of India is established in :

(A) 1940 (B) 1935
(C) 1950 (D) 1920

1212/(Set : C)
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22.

23.

24.

25.

(12) 1212/(Set : C)

7el g gﬁ : 1
(A) APC= ac (B) APC= AY

AY AC
(C) APC-= z (D) APC = <

C Y

Choose the correct formula :

@A) Apc=2C B) apc=2Y
AY AC
(C) APC-= z (D) APC = <
C Y
R =t &1 giT &7 -

Fill in the blanks :

ARG H G S B [, fafer a1 sRRT 2 2 1
(e R e/ ST B Fae)

To issue currency in India ................ method is used.
(Minimum Reserve System/Proportional Fund System)
TER & RS q S B e FX Bl (SusrT/SereE) 1
Goods and Services are ................ by Household Sector. (Consume/Production)
FY, TER I B T aQA o T B (e erfvrard) 1
Taxisa ............ payment to government. (Optional/Compulsory)

1212/(Set : C)
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(13) 1212/(Set : C)
firifgT 797 (26 @@r 27) 7 & #97 [ T & SNEIT (A) T 7% (R) FIT B
9eFT 17 [T T AFed § @ g8 [eey # g9 # -

The question below (26 & 27) consists of two statements : Assertion (A) and
Reason (R). Read the statements and choose one of the correct alternatives
given below :

HIT (A) : FRE A AT T T 1
T (R) : I oM 7 el & < & &R T AT et o

%

(A) STHIT (A) T TH (R) AFI T & T T (R), STHHAT (A) FT TEl TR B
(B) STHT (A) &1 T (R) AMI O & O T (R), STHHAT (A) F el TEBIT 61 2
(C) e (A) 99 &, W] T (R) 76 &I

(D) SR (A) 3THA 8, g T (R) T Bl

Assertion (A) : Factor Income is earned income.

Reason (R) : Domestic Income includes net factor income from abroad.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1212/(Set : C) P.T.O.
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27. ARHY (A) : BN TH Tod & & 1

28.

% (R) : BEEN & HROT b6l SR & | &1 T 160 S

%Y -

(A) ARMFEE (A) T dF (R) A1 97 § T T (R), ST (A) 1 Tl T 2|
(B) ARHY (A) U1 d& (R) AM! O & T T (R), MBI (A) BT Tl TTEBI Tal 2l
(C) SIRHEE (A) § &, W= T (R) 76 B

(D) SIRHEA (A) 3T &, W=y T (R) T 3

Assertion (A) : Scholarship is a Revenue Expenditure.

Reason (R) : Scholarship does not lead to creation of any asset.

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

[ S-S 997 |
[ Very Short Answer Type Questions ]

Iy fpel orefemeem ¥ 100 FHUs B9 H AldRad a9 f6ar oiar 8 991 MPC =
g # fohat gies =B ?
1

If additional investment of ¥ 100 crore is made in an economy and MPC = 5

&,
3

N |+~

then what will be the increase in income ?

1212/(Set : C)
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OR

Pt AR EJET 9 STEISTIR Eger # S aamnd|

Write the difference between Full Employment Equilibrium and
Underemployment Equilibrium.

29. MR AV TN TAW 99 F &7 FR T 3

Write three differences between Balance of Trade and Balance of Payment.

[T 97 |

[ Short Answer Type Questions ]

30. FHY fFA Fed & ? UUE T T U 7 AT Fax o 4

What is Tax ? Write three differences between Direct and Indirect Taxes.

31. USiar srefemaeen & & Qe Rl 4
Write four features of Capitalist Economy.
AT
OR

S o el agelt ¥ ofay S
Tell differences between Final and Intermediate Goods.

32. A AN H EF B & ToMRNA AT B 39 4

Write the measures of Fiscal Policy to control Deficient Demand.

1212/(Set : C) P.T.O.



33.

34.

(16) 1212/(Set
[ € ST s

[ Long Answer Type Questions ]

TS ST H o1 H a9 8N arll Jal i o

Which activities are not included in the estimation of National Income.

3TeE
OR

TS 39 A 1 T A & e &1

Explain the income method of measuring National Income.

g 96 T YR T SN § ? 39D FE

What do you mean by Central Bank ? Write its functions.

YqT
OR

T A SIH F A T 7 36D A FE T

What do you mean by Money ? Write its main functions.

1212/(Set : C)
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o OHTES ST Ul To FIT-FH YT GfFed @) Wl To F AR TG G T Z8 A 7T
[T I dieq Fo7l % FU YT [ FHX B T T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT F%7 % I 37 @ g4 TE FAkEd F A & Je7-97 [ T & 8, ThEr F ITT 59
T § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

(9
(%)
(iti)

()

(V)

(vi)

(vii)

To7-7 % & 9T & : qF-o7 (FE 7)) T AT (FARE S
& g9 oifard 8
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797 G 1 @ 10 T 18 & 27 TGS J97 &1 J9% F97 1 3% F 81 [R9gar 57
o7 & FT doray
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Je9% & AT GG 30 =] § 9% 7E S ey

797 @& 13 & 15 727 30 7 32 7% TYAUAE F97 & Frid J&F J97 4 o T &1
% & I GAET: 60 =] & 39% e & ey

797 G&J 16-17 7o 33-34 7% 3 FTUHAE J97 & 575 J9% J97 6 3jH 3T &1
T&9% T FI7 T@HT: 130 g1 @ 379% T2 &7 Ry

(viii) B Fo71 § ofiiE g2 G & 87 g7l H @ SAvH Hac G & 597 FA &1

(ix)

=T G, FAEHE T G JId Je7 G g 7El 8l
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General Instructions :

(i) The question-paper contains two Sections : Section-A (Micro-Economics) &
Section-B (Macro Economics).

(i) All questions are compulsory.

(iii) Marks for questions are indicated against each.

(iv) Question Nos. 1 to 10 and 18 to 27 are objective type questions. Each
question carries 1 mark. Answer these questions as per instructions.

(v) Question Nos. 11-12 and 28-29 are very short answer type questions
carrying 3 marks each. Answer to these should normally not exceed 30
words each.

(Vi) Question Nos. 13 to 15 and 30 to 32 are short answer type questions
carrying 4 marks each. Answer to these should normally not exceed 60
words each.

(vii) Question Nos. 16-17 and 33-34 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed 130 words each.

(viii) Internal choice is available in some questions. You have to attempt only one
of the given choice.

(ix) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
AT - A [ M. M. :40
SECTION - A
[ @fte srdeme |
[ Micro Economics ]
[ TS g ]
[ Objective Type Questions ]
=i 797 % Gel fawed g -
Choose the correct option of the following questions :
1. 9-fe8e g W ®H & Q-8 el © ¢ 1
(A) T (B) g9
(C) RS (D) i3 Tl

1212/(Set : D) P.T.O.
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On break-even point, profit and loss of the firm will be :

(A) Zero (B) Positive
(C) Negative (D) None
2. G fag a8 g & B A g ufid &t iR ekl § 1
(A) ST-4I® & o 2 (B) SR & &t
(C) R B & (D) HE &I FHl
Equilibrium point is the point at which the force of demand and supply :
(A) goes back and forth (B) is not equal
(C) are equal (D) Not work
3. @& wHiH g ¢ 1
(A) AR:@ (B) TR:E
Q Q
(C) MR:% (D) AR=TRxOQ

Choose the correct equation :

&) ar=MR B TR=4F
Q Q
_ATR _
(C) MR-= AQ (D) AR=TRxQ
4. HHid ITART 8 T & 1
(A) &R (B) FOIH®
(C) A (D) ST T+
Marginal Utility can be :
(A) Positive (B) Negative
(C) Zero (D) All of the above

1212/(Set : D)
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5. F=1 & @ &-41 e st 1 e § 7 1

() T o

(B) % B H ERET

(C) 9Rd ¥ H¥ H Fwen

(D) 9 A

Which one is studied in Micro Economics ?

(A) National Income

(B) Price determination of a good

(C) Agricultural problem in India

(D) Aggregate demand

R =t &1 giT &7 -
Fill in the blanks :

6. IR i B " Th H A &, A YR oo Bl ERISHIVAIECY N
If the elasticity of supply is greater than one, the supply is ............ .

(Unelastic/Elastic)

7. 9§ MR &9 BT &, @ TR oo, BT B 1

(et X @ 98 @I/l X § T8 @)
When MR is positive, then TR will ................ .

(Increasing at decreasing rate/Increasing at increasing rate)

8. @A SFiEEe & R BRmel W ... P =T B ol (SRR /I rfeRTE)

In a free economy, economic activities are controlled by ................ .
(Government/Market forces)

1212/(Set : D) P.T.O.
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=it get (9 @@r 10) 7 & F&7 R9 79 & - HYT (A) T T (R) T # TCHT
qe [T 77 fawedl 5 @ 78l [awey #1997 B

The question below (9 & 10) consists of two statements : Assertion (A) and
Reason (R). Read the statements and choose one of the correct alternatives
given below :

9. YA (A) : it T gft N AET FEEE gRemd ) 1
@ (R) : TR i g @ Ifemg a9 g &t 9fd oiggE | B
% -

(A) ARFET (A) T TF (R) A1 O & T T (R), MBI (A) BT HEl TP &
(B) ST¥HT (A) &1 T (R) AMI O & T T (R), STHHAT (A) F el TREBIT T8l 2
(C) SIRHEE (A) §W &, W= T (R) 376 B

(D) SR (A) A 8, g T (R) T Bl

Assertion (A) : Supply and Quantity Supplied are similar concept.

Reason (R) : Market Supply Schedule means the Supply Schedule of the entire
industry.

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1212/(Set : D)
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10. AP (A) : To1C T & qBY By A g o0 HAM & ThT HIA S 1

T (R) : §qe %l Rafy & deeaar a6 do S 361 Th-ga & @ 7 2
ey

(A) ARHET (A) T TF (R) AN O & T T (R), MBI (A) BT Tl TP 2|
(B) SIRMwEM (A) T 9% (R) W1 O § T T (R), ST (A) 1 Tl TSI T2l Bl
(C) ¥ (A) 99 &, W] T (R) 76 &I

(D) SR (A) 3THA 8, g T (R) T Bl

Assertion (A) : Any point outside the budget line represents non-attainable
combinations.

Reason (R) : In a situation of equilibrium the indifference curve and budget line
touches each other.

Option :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

[ SAfT-<TgRT® 989 |
[ Very Short Answer Type Questions ]

11. FF 3 TAhd 9 39W & Jfased § 7 ofav ford 3

Write three differences between Return to a Factor and Return to Scale.

1212/(Set : D) P.T.O.



Marginal Revenue.

(8)
e
OR

dHld oM & 1 A B P EHid ST 1T & & g

What do you mean by Marginal Revenue ? Write the formula for calculate

1212/(Set : D)

12. 5§ A6 QO @eRR &, 39 QR § BN 9 aRed # Sqed Hed W 98 q9E &

qfeE 9=

When Demand is perfectly elastic, than explain with diagram, the effect on
equilibrium price of change in Supply.

[ TYARTEH T |

[ Short Answer Type Questions ]

13. g ¥ gf& & FR0 o

Write the causes of increase in supply.

14. iR T8 &Y
S (30) %W AN 3 Naa fex @ | olea aRadwsiia ar
0 75
1 95
2 110
3 155

Complete the Schedule :

Production (U) | Total Cost X

Average Fixed

Average Variable

Cost Cost
0 75
1 95
2 110
3 155

1212/(Set : D)
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15. =fte srefere it fawg arE @1 auie &Y 4

Explain the subject matter of Micro Economics.

YqT
OR

e aoen 1 & ? 3E% SQ BN @ HROT A

What is Economic Problem ? Write its causes.

[ € ST 999

[ Long Answer Type Questions ]

16. T SREIFKT a9R & 1 A & ¢ 3es! fafvan] san) 6

What is perfect competition market ? Write its characteristics.

YqT
OR

qfet & 40, gl 9 g, 9 B e qun g & faer @ aten quesy
Explain with diagram : Increase in Supply, Decrease in Supply, Contraction of
Supply and Extension of Supply.

17. 0T & F A9 o F1 SR B ? A% # W 3 4 W 3R § deaT < 5 U @R a
M T TEH AT 20 THEAT § TEHT 10 HEA © A6 o FA A @ A A H HAT
ol &l I B 6

What do you mean by Price Elasticity of Demand ? The price of a goods increase

from ¥ 4 per unit to ¥ S per unit and its quantity demanded reduce to 10 units
from 20 wunits. Calculate price elasticity of demand by Total Expenditure
Method.

1212/(Set : D) P.T.O.
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AT 1 frm @ ¥ ? AT a6 B RO BN B HIOT
What is Law of Demand ? Why does demand curve slope downwards ?
qT - [ M. M. : 40
SECTION - B
[ qefe e |
[ Macro Economics ]

[ FEgs 9s ]

[ Objective Type Questions ]

[=iirET 997 % @el [awey giad -
Choose the correct option of the following questions :
18. @& g A ’

&) Apc=2C B) apc=2Y
AY AC

(C) APC-= Y (D) APC = ¢
C Y

Choose the correct formula :

&) Apc=2C B) apc=2Y
AY AC

(C) APC-= Y (D) APC = ¢
C Y

1212/(Set : D)



19.

20.

21.

(11) 1212/(Set : D)

TIAE A9 3 o dkl B Frfeiad & & $9-8 & dfer w0 @ ? 1
A) T (B) ST¥T A
(C) Yol e (D) S &

In which of the following categories are the Economic Transaction of Balance of
Payment divided :

(A) Visible items (B) Invisible items

(C) Capital transfer (D) All of the above

u e @9 @ty § ATl STt A0 @ Fed | 1
(A) =g (B) waE

() ®f® (D) 3 & *5 Tl

The quantity measured in a certain time period is called :

(A) Goods (B) Flow

(C) Stock (D) None of these

ARA § TS A B FTAA DA T & 7 1

(A) F=E i e (C. S. 0.)

(B) ¥R Rs@ &% (R. B. 1)

(C) g wiEst 9a&eT @es (N. S. S. 0.)
(D) 3 &+f

In India National Income is calculated by :
(A) Central Statistics Organisation

(B) Reserve Bank of India

(C) National Sample Survey Organization

(D) All of these

1212/(Set : D) P.T.O.



22.

23.

24.

25.

(12) 1212/(Set : D)

IR R S i e g o 1
(A) 1940 ¥ (B) 1935 H
(C) 1950 ¥ (D) 1920 ¥
Reserve Bank of India is established in :
(A) 1940 (B) 1935
(C) 1950 (D) 1920
R =t &1 giT &7
Fill in the blanks :
P, TRPBR B FBAT T AT oo P B (A otfvard) 1
Taxisa ............ payment to government. (Optional/Compulsory)
ARG H G o B [, fafer a1 sRRT e B 1
(W R e/ ST Y aae)

To issue currency in India ................ method is used.

(Minimum Reserve System /Proportional Fund System)
TER & RS d T B e FX Bl (SusrT/SereE) 1
Goods and Services are ................ by Household Sector. (Consume/Production)

firifga 797 (26 @@r 27) 7 & #97 [ T & SINEIT (A) T 7% (R) FIH B
TgHT 19 QU T [Awcdl § @ §8 [dwed w1 qaT #Y -
The question below (26 & 27) consists of two statements : Assertion (A) and

Reason (R). Read the statements and choose one of the correct alternatives

given below :

1212/(Set : D)
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27.

(13) 1212/(Set : D)
H (A) : BEGRT T o 9 R 1

@ (R) : BHINT & HROT [hEl FBR H €T H1 i1 T g

R -

(A) STHIT (A) T TH (R) AFI T & T T (R), STHHAT (A) FT TEl TR 2
(B) SRR (A) T d% (R) I O & 9 0 (R), STRRN (A) T HEl TIh0T -8l &l
(C) SIRHEE (A) § &, W= T (R) 76 B

(D) SR (A) 3THA 8, g T (R) T Bl

Assertion (A) : Scholarship is a Revenue Expenditure.
Reason (R) : Scholarship does not lead to creation of any asset.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

ATREBET (A) : FRE T ARTT o B 1
T (R) : I oM 7 el & < & FR& T AT et o

R

(A) ARFEE (A) T dF (R) A1 97 § T T (R), ST (A) BT Tl TSI 2|
(B) ARHY (A) &1 T& (R) Q! O & O T (R), STHIT (A) BT Tl TTEBI Tal 2l
(C) IR (A) §F &, Wy T (R) 3TEA Bl

(D) SR (A) THA 8, g T (R) T Bl

1212/(Set : D) P.T.O.
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Assertion (A) : Factor Income is earned income.
Reason (R) : Domestic Income includes net factor income from abroad.
Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

[ SAfT-<TgRIT® 989 |
[ Very Short Answer Type Questions ]

28. MR AT TN TEAW 99 F &7 FR Q| 3

Write three differences between Balance of Trade and Balance of Payment.

29. 7R Rl srfer@en § 100 #T S99 1 ARG Masr feam s & aen MPC:% g, o
@ H fopel gis B8Rl 7 3
If additional investment of ¥ 100 crore is made in an economy and MPC :%,

then what will be the increase in income ?

1212/(Set : D)



30.

31.

32.

OR

Pt AR EJET 9 STRISTIR Eger & Sk aand|

Write the difference between Full Employment

Underemployment Equilibrium.

[FERReT% 97 |

[ Short Answer Type Questions ]

A AT B IE B B TN AT B U o

1212/(Set : D)

Equilibrium

Write the measures of Fiscal Policy to control Deficient Demand.

Y fhe ded § ? IO T STTe B H 7 ofax ford

What is Tax ? Write three differences between Direct and Indirect Taxes.

aiferT T et aggel # ofT¥ S

Tell differences between Final and Intermediate Goods.

3TeE
OR

ofiarel Sreferaee & &y @ e

Write four features of Capitalist Economy.

1212/(Set : D)
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33.

34.
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[ € SAUeTE 999 |

[ Long Answer Type Questions ]

T STH F A T 7 36D A FE T

What do you mean by Money ? Write its main functions.

3TeE
OR

BT 96 T YR T SN § ? 39D FE

What do you mean by Central Bank ? Write its functions.

TS o9 A9 i Y A & /e &)

Explain the income method of measuring National Income.

YqT
OR

TS 9 Bl oW1 H d F 8N arll 7al &l o

Which activities are not included in the estimation of National Income.

1212/(Set : D)
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